ot 7 — 02
BOH0 farerRor e | ge | @ q4—1 qy—2 gMT T
W | dFE | dna
(®0) | (®0) | SoHowofo FIEH S0H0%0f0 e (31) SoHoHoR0 (@) sferer
o o o
(90%) (10%) (90%) (10%) (90%) (10%)
1. Tferfafert
3:"_
E"_
U3 (I)
H0H0 faawor gfe | gfe Bl S0H0¥0(d0 REEE| S0H0¥0(d0 REEE| (a1) 3090F0fd0 (@) 3fEre™
W | dFE | AR o o o
(w0) | (%0) (70%) (30%) (70%) (30%) (70%) (30%)
2. aReFfoar
3:"_
E"_
U3 (1)
3. T (I+ID)
4 FIT AT (12%) — — —
5. THD! TEAT (8%) — — —
6. G (3+4+5) — — —
7. S0A0HOfA0AISTT HEaNT — %0
&l H- W0
8. 3[reT — %0
TRl H- T
9. Bl URIT AN (7+8)— 0
NEA RIS

die— dodiogelo / THodI0 / TH0cIo ARl &g UREHIT UCh & i AFRIRID UG 30% @ I W 10% Ud I0H0H0M0 ANGHT BT [EIIT

90% BT |




#or 7 - 01

qRITSHAT Tafaf fearaae =re
EIROICEIRNIEC
(FTear)
B a1 q4—2 fewoif
0 SEEREILRE SR EIER U E IR
1- 90
gm0
2- 90
gm0
3- 90
gm0
4- 90
gm0
5- 90
gm0
o- 90
gm0

(Y0~ TRATIA, 10— aRide)




